(710) FeHIE g : (751) Leraelt] = ¢ (101) el (cel - )

= SR
= o = At = p e
96,300,000 | 100,690,000 A 4,390,000
5,171,199 5,180,352 A9,153
4,997,511 4,941,752 55,759
4,997,511 4,941,752 55,759
4,044,159 4,019,826 24,333
3,825,939 3,800,646 25,293
3,814,779 3,790,226 24,553|01 =4
ollEgg(s32:70y) 2,543,674
53 (293) 4,028,4003 x 38 x 12& = 145,023
62(293) 3,510,400 8 x 192 x 128 = 800,372
72 (223) 2,954,200 2 x 382 x 128 = 1,347,116
82(1235) 2,159,000 8 x 9% x 128 = 233,172
92 (53) 1,499,2009! x 19 x 128 = 17,991
oA 02 211,973
H¥osg 2,543,674 ,0002 x 1/12 = 211,973
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203 ~25E 0] 2t
158 ~204 0] 2t

108 ~154 0] 2t

58~10E 0] 2t

69,280,480& x 1H

8,930& x 40H x 43AI 2t x 128

g 29)

8,930& x 138 x 24Al 2t x 6

3,510,400 & x 142 x4.1/100x 12&

2,954,200 & x 249 x4.1/100x 122

2,159,000& x 1& x4.1/100x 12&

130,000% x 269 x 12&

110,000 x 25% x 12&

80,000& x 9&H x 12&

60,000& x 4H x 128

50,000& x 6H x 12
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Mg o (751) etateld £ @ (101) &2H] CERE-L)
= |d &
= A o = & &t £ pJ S

=2 54,359

- B X 40,000& x 718 x0.78x 128 = 26,583

- JIEFII= 20,0003 x 718 x1.48x 128 = 25,220

- SAILE(AMOL 014) 50,0008 x718 x0.06x 128 = 2,556

ANAESHEXE 19,737

- 1ssu 463,300& x 718 x0.15%x 43| = 19,737

=< 50,0003 x 348 x 128 = 20,400

S+=g%f=¢ 74,400

-Jl=38+¢ 16,560

L= 50,000& x 1& x 12& = 600

* 59 50,000& x 3% x 12& = 1,800

* 6~72 30,0003 x 308 x 128 = 10,800

* 82 0l ot 20,000% x 148 x 12& = 3,360

-JIedEsE Jtdts 11,040

* Jl= At 50,000& x 1& x 128 = 600




(700) At 8 (710) HYHIB ME o Brarelyl = )
= S
— of & o = A p) e
2 & @
* JlsE, JIA 30,000 x21H x 128 = ,560
* AR D[ A} 20,0008 x 1299 x 128 = 880
- Besg 150,0009 x 269 x 128 = 800
o H U Z Al 130,000% x 719 x 128 = 760
° 2= Z 0ty 2,543,674,00021 x 1/12x 60% x 23] = 368
o ¢t Al 2,543,674,0002 x 15/360 = ,987
11,160 10,420 74004 DJIZH2RXSES
S BI04 Mo 2 Fel 2XoRY 160
oI Al 44,6402 x 12 x 250 160
106
APt H 218,220 219,180 A 960
7,800 7,800 0/01 I AL2H:AY]
CcHMUZ YL FXY 1800
2% 350,0009! x 19 x 128 ,200
S 100,000% x 3% x 12¢ ,600
126,900 126,900 0102 =ZE=H|
o X g x| ,900




ool g Mg : (751) Lerzell 2 1 (106) ML A (el : mEl)
= S
- A oM - = 2t At = J| =
= of A o
485 400,000& x 196 x 128 = 4,800
53 250,000 x 3% x 128 = 9,000
62 155,000 x 17% x 128 = 31,620
72 140,000% x 38% x 128 = 63,840
8~92 105,000% x 142 x 128 = 17,640
83,520 84,480 ~960|03 SHYDHHAH
CSHULHHESH| 83.520
SILEMSER Ex=8=3H 80,0008 x70H x 128 = 67,200
O AtEr S 2 S| 80,0009 x 3% x 128 = 2,880
Zaegsst 80,0008 x 4% x 128 = 3,840
QI VLY 80,000 x 3% x 128 = 2,880
FaAREYB 80,0002 x 7% x 128 = 6,720
200
2 A 161,855 171,412 A9,557




=E=Te(E= Mg (751) Lerall S : (201) Lereg (sl : @)
= SINER==
— Ao z 2 Ak = J| ES
= of & o
201
duey 56,393 57,525 A1,132
53,825 54,225 A400(01 Al 2l

o1, Yptxgyl 53,825
2A2Y YbtagY| 3,600,0002 x 14! = 3,600
O AFA I 6.800
- o=z 40,0008 x 605 = 2,400
- =3 20,0002 x 60 x 23] = 2,400
- ZAA HE 40,000& x 508 = 2,000
dAYE Y HY =5 20,000& x 2008 = 4,000

SREH . BEHY)LE 222
200,0002 x 290 Af x 23] = 800
Sl T AIY ZAAA 22 20,000,0008! x 14 = 20,000
DUGEE BSEA £48 4,000,0002 x 14! = 4,000
JUWI EDM(EUXN2ES) HME 50,0008 x 1008 = 5,000
AE OMA Y O o4 2,500
- MA 1508 x 103 x 1,00004 = 1,500
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(700) AteiHIS 8 1 (710) 288 Mg (751) gurerely) 2 1 (201) ey (ciel - m)

= H 4| T
= — Ol AF o = 2 At = J| =
g = of oAb oM
RS 50,0002 x 10Z x 23| = 1,000
HMAJD AQE q 200,0008 x 504 x 43| = 4,000
SAEK R 2,205
- METX 21,0002 x 702 A = 1,470
- B4R 31,5009 x 108+ A = 315
- A3E X 22,0009 x 208t A = 440
T Y A ED R 70,000 x 1094 = 700
MEIIE2E Y 2.,0002 x 10004 = 200
2568 3,300 AT32(02 Zz29H
CAE M2 300,0008 x 6& = 1,800
LBhN2Y 2E2e2 768,0002 x 14l = 768
002
of Bl 57,900 71,940 A 14,040
57,900 71,940 A14,040(01 22U 0{H|
oFQAREZR OHI(SS) 20,000 x20% x 102 x 128 = 48,000
oQogg o=yl 60,0008 x 5% x 32 x 73| = 6,300
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30 (710) PYHIE TR o B2 2 g 2 ¢ (212) B2z agl)
= ER=
= of A o o w| B2 & - 8] ES
APEY FRYUS L OFA2RK SA|
7,0008 x 4% x 122 x 123] = 4,032
IS HEY LU U A2 SA|
7.0008 x 4% x 82 x 12| = 2,688
SAEHIEY TR U A2 SA|
7,0008 x 3% x 82 x 123 2,016
R 3,180 3,180 0
2 150 2 150 |oftHEIBAE d2id DSEl 100,000 x 32 x5 1,500
oXYBIY FYHES WS 2800009 x 32 x 2% 1,680
s una 14,702 8,500 6,202
14,702 8,500 6,202|06 Al&EHIRIIHI
oHHMATY RAB2IL (HI=AIIL 55)
500, 0002 x 63 3,000
STl GASNTRIY SN (£42)
6,902,000 6,902
CHAFBAAY 29 L R 22 400,000% x 122 4,800




o) s : (710) ¥oHI= M8t (751) LBratelyl 2 ;. (304) 2RU2 = aigl)
o = H od
= of Ab o = 2t Al = J| =
2 s ME = Of A o
300
301N 791,497 750,514 40,983
304
A22E=2 S 786,697 744 /521 42 176
659,714 613,949 45,765|01 H22<
ocdHZ2EEZ S 4,032,999,000& x 16.3579% = 659,714
126,983 130,572 A3,589|02 =20AUABHELZ
oZ0AHUBSEHEHZ 4,032,999,000& x2.955% = 119,176
oL QA QUABEHEHZ 119,176,000 x 6.55% = 7,807
307
oI2to| & 4 .800 5,993 A 1,193
4 .800 5,993 AN1,193|107 HZ2X=2=2
ool EAEEHZ 4,032,999,000& x0.119% = 4,800
770
HAAH 173,688 238,600 ANB64,912
771 )
Xl =0l XL = = Hidl 173,688 238,600 A64,912
300
A A0l M 173,688 238,600 A64,912
311 ]
Xt 20| XA &t 173,688 238,600 A64,912
173,688 238,600 ~64,912|103 S32BIBXL 20X 4 &
2D OINAS (2L Hal Al O FIHSZ A




s 1 (770) ¥QlHlE Mg : (771) XZS0IX L3 2 bl = 1 (311) XIYZOIX A S (G HH)
= S
o & o = A = y ES
= of & o
2 1_/N NNN NNNKI v 2 770 — Q1 A2D
cEMILHRAE HL(BESNUSZ 0X) 92,256
[2] 20004 & 100,000, 0002 x 2.00% = 2,000
[2] 2001E & 1,805,600 ,0002 x 2.00% = 36,112
[2] 20024 & 2,707,200 ,0008! x 2.00% = 54,144
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Mg (237) BII7HIE S ¢ (405) XAHFSHIS (el m)
= d ¢ =
= of & o = =2 & = ol =
S Of 4 o
28,526,508 | 21,237,339 7,289,259
SEE 4,250 0 4,250
01781 B 4,250 0 4,250
405
NEELIE 4,250 0 4,250
4,250 0 4,250/01 Xt S|
oMM (ALBHANLL) 250,0008 x 57} = 1,250
SO (HLBANY L) 200,000 x 574 = 1,000
MR (ALSBANLL) 1500002 x 57 = 750
MBI A (AL B AN L) 250,000 x 574 = 1,250
IS Sl XA F S 25,377,443 | 18,341,153 7,036,290
S0l 4t 25,377,443 | 18,341,153 7,036,290
401
Al 8] 22 T 25,377,443 | 18,341,153 7,036,290
24,698,000 | 18,320,000 6,378,000 01 Al &H
SHBE I EHIAL AL 14,298,000
(=] 13,611,000,0008 x 141 = 13,611,000




g 1 (260) HIDtSEHIMAFHSAHE @ (261) AL SR £ (401) AIZHIZ=0Y]

i1

R

=

o & oA = = &t = ) =
ol & o

[Z] 687,000,000 x 14 = 687,000
oXe ZIRaLHMalAL () B4 10,400,000
[=] 6,700,000,000® x 14 = 6,700,000
(=] 1,407,000,000® x 141 = 1,407,000
[Al] 2,293,000,000® x 14 = 2,293,000

650,000 0 650,000(02 2Zcldl

o2 ZIGt=HMelAlL(2EH) B4

10,400,000,000& x 6.25% = 650,000
29,443 21,153 8,290 (03 Al&=04HI
oHot, JHot=HelE o4
[Al] 14,298,000,000& x 0.23/100% 1/2 = 16,443

oY ZIGt=HMelAIL(2EH) &L

[Al'] 10,400,000,000%& x0.25/100% 1/2 = 13,000
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ME : (283) 38JIBRYT AZ3as = : (601) YAIRINE (ol ma)
= SRR ] ]
i = eIy uow| 5P & = ’! =
s=ae 2,445,200 | 2,741,200 £296,000
be3 _
SEolBUYs aaas 540,000 540,000 0
601 _
te=daaE 540,000 540,000 0
540,000 540,000 0/03 =sasJiBUARRIAE
ceUNYUD ABNEB(ZLHUAAE OIFNSBA)
135,000,000& x 43| = 540,000
289 o
JEEEEE P 1,905,200 | 2,201,200 £296,000
612 o
SEEEEE P 1,905,200 | 2,201,200 £296,000
005200 | 2 201 200 ro000| © EGIART A& (SEN) 1,905,200
(2] 2000 & 25,000,002 x 43l = 100,000
(2] 2001H1E 225,700,000% x 48] = 902,800
(2] 200281 225,600,000% x 43 = 902,400




& 1 (800) OflHlHl Mg : (801) Oliblbl = 1 (801) GilHIbI (ciel - m)
= G
o & o = A = y] ES
= of A o
699,705 154,986 544,719
699,705 154,986 544,719
699,705 154,986 544,719
% =
699 705 154 986 ENELEE 699,705,000 699,705




& (710) ZHlE g : (714) 201Hl S : (101) 22| (cel - )
= IINER
o & o s 2 & & g =
= o & o
1,814,784 1,533,652 281,132
1,814,784 1,533,652 281,132
1,681,040 1,410,364 270,676
100
o2y 347,438 257,763 89,675
101
o1 21 b 279,971 257,763 22,208
273,997 257,763 16,3403 SINHA2E X4
oot E E&E R 161,206
Jl2s 51,8003 x4H x 2614 = 54,080
-G 13,519,800& x 49 x 1/12x 400% = 18,027
EEEP 13,519,800 x 4% x 1/12x 120% = 5,408
- mELY 51,8008 x 4% x 522 = 10,775
RPN 72,8802 x 4% x 232 = 6.705
E-E R 130,008 x 4% x 128 = 6,240
S 60,0008 x 4% x 128 = 2,880
L 2EN S 51,8008l x 652 x 4% X 50% = 6.734




Stacd |
Bo: (700) AbiH 3 (710) FYHlE Mg (714) 200 S 1 (101) 22| el - )
& = INE=
e TE - I e & s 5 =
Fazesyg 72,8808 x 52 x 128 x 4% x 150% = 26,237
A+ 40,0008 x 4% x 128 = 1,920
Za+g 13,519,8008! x 4% x 1/12x 100% = 4,507
2 AL 2,000% x 4% x 252 x 128 = 2,400
MG 50,0008 x 4% x 128 = 2,400
DER XY 50,0008 x 4% x 128 = 2,400
N2 24E 9, 1102 x 10AI2F x 42 x 128 x 150% = 6,560
EIRNS 9, 1102 x 50AI 2t x 42§ x 150% = 2,733
B Y 10,0002 x 1% x 128 = 1,200
2A0158 ARY 112,791
23 1,288,050 x 2% x 128 = 30,914
g4y 1,928,050 x 22 x 200% = 7,713
¥a+g 1,928,050 x 22 x 200% = 7.713
R 1,928,050 x 22 x 300% = 11,569
Eag 70,0008 x 2% x 128 = 1,680




[ b=
2t (700) AbH g 1 (710) FYHI NIE @ (714) 2l S 1 (101) el1AHI chol - m)
ot = PSINC = _ .
_ }\_”g} 0:” Au_l' ot % ju:n" /nll' = jl 2=
s g S of &b o
S4+U24g 90,0009 x 2% x 128 = 2,160
ey pS N 70,0009 x 2% x 128 = 1,680
X o3 Al 160,0008 x 2% x 128 = 3,840
JHH & EH 110,0008 x 2% x 128 = 2,640
H=(0FR3) Al 50,0009 x 29 x 23] = 200
nEE XY 140,0002 x 2% x 128 = 3,360
o & £ It 1,928,050 2 x 2% x 150% = 5,785
2t Al Y| 5,0008 x 2% x 252 x 128 = 3,000
A2+ 15,7502 x 150% X 2 x 22A| 2t x 128 = 12,474
gaz224+¢ 118, 12091 x 2% x 42 x 128 = 11,340
eI Y 126,0709 x 29 x 202 = 5,043
QM 70,000x 2% x 128 = 1,680
5,974 0 5,974/04 JIAHNZ2XSES
oltsot=% 22l 5,974
=& A ogdtec 22 44,6409 x 2% x 60 = 5,357




(700) AtiblE g (710) FHHIS Mg : (714) 24| S ¢ (101) A2AH| (el mEl)
= FSIRNE
0;” Ak OH % 2F /.l" % ]| =
= ol &b o
AR E JI2RE 3 5,357,000& x 11.5% = 617
107
S 67,467 0 67,467
s20/5te EA30 53 ,911, 1038 x 11.5 % = :
67 467 0 67 467 | 3t I o = 3,911,108& x 11.5¥ x 150 67,467
200
=2 &bl 406, 106 274,491 131,615
201
2Bt A 233,996 208,476 25,520
11,200 8,000 3,200|01 AFR22]H|
o2 938 2+ 11,200
- 07 ot==21 BTL &EIIRA =¥
200,000& x79H x 43| = 5,600
-09 ot==21 BTL &tEIIRIE =¥
200,000& x 7¥ x 43| = 5,600
222,796 200,476 22,320102 33294l
o1, 3322 ¥ AHA 216,120
OISH3I| SMe2 XNA(ELEL)
70,000& x 20 x 12& = 1,680
HExE 201 900,000& x 2CH = 1,800
ANSTHA Sh= 200,000& x 20 = 400




[ b= ]
2 (700) AtgH st (710) ¥LHI= NI& @ (714) 244 2 @ (201) Lt ol - mMEl)
In’ = PSS B =
- ol aF o = 2 At = 2l =
2 g NS = O]l A oH
LETHEIE(42)HA) HI|.E4R2
6,000,000 x 12& 72,000
ZSMA A0 HE E222 Y2 (EE2X Hs
220,000 x 204 A 440
St AALY BTL DIt 64,000
-07 SF4=2tHBTL 9,000,000< x 43| 36,000
-09 Bh#=2t HBTL 7,000,000< x 43| 28,000
BTLAIY 2% P2t HEEH IR (11IHA) HI|, S L2
5,000,000 x 12& 60,000
BTLAISY 2% 72t £AE2AH| 3,500,000 x 43| 14,000
BTLAISY 2 AIRA HIIR2 150,000L x 12& 1,800
©3. X}k ey 6,676
S(Ad") 3,338,000 x 2CH 6,676
206
TH 2 4 17,600 17,600
17,600 17,600 01 LEHIH 2 H]
oBt$E AME2S B4 MR 5,000,000 x 14! 5,000
ofl+E T2 7 180,000 x 70X 12,600




(700) AtSiHl & 8 1 (710) 9UHIB Mg : (714) A 2 1 (212) =22/=MH| agl)
= E
— Ol AF o 2t Ab = Il =
=2 AF o
212
= 2| = | 31,510 30,415 1,095
31,510 30,415 1,095|01 A3 EE€E2EH2
ool FEHRFA AEEIIAE2E 2 161,206,000 x 11.5% = 18,539
oc&HOISE 4AHEEIIAEHS 112,791,000& x 11.5% = 12,971
214
EePa RN B sl 123,000 0 123,000
123,000 0 123,000|06 Al & & H| S XlH]
OBtATAAS K2IRBAAL(GIS) SX 22l
10, 000,000& x 14! 10,000
CQLLESZTHEIA(42HA) X 22 1,500,000& x 4201 &~ 63,000
oFAHZE F2ANE A2 50,000,000& x 14! 50,000
300
A Aa0| & 927,496 878,110 49,386
307
QI2t0l & 750,000 750,000 0
750,000 750,000 0|05 OQItE=
ocHUZBC BT ANESES 2 750,000,000 x 14! 750,000
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700) AreidlE s 1 (710) ZUHIE Mg : (751) Lerzeiy| S 1 (201) LBy (cel - )
= S
o & o = A = y] ES
= of & o
St ARE Sals 2ILHA AR 10,000,0008 x 14 = 10,000
Sl RO 22 S 4F  10,000,0008 x 14l = 10,000
11,748 11,248 500(020 Z2ed|

o1. 2222 < HAl 11,748

eN2d 2ze3 900,000 = 900

A Bh 4 E 8 8l b 7,600,000 x 13| = 7,600

Si4+E A2Z2 DXANsZ 2EeZ 3,248

- Bt 300& x 1304 x 12& = 468

- =7 1,9302 x 12021 x 128 = 2,780

202
04 bl 62,520 60,120 2,400
62,520 60, 120 2,400(01 =UH0fb]

o2 M Z=RYUP FZ0IHI(ZE20,0008 x 229 x 102 x 128 = 52,800

oSlAHMASY A2EXNH 60,0002 x 42 x 3L x 63| = 4,320

oBIFAMYY ALEXNY 60,0008 x 3% x 3L x 55| = 2,700

oBlAE4ET ALEANH 60,0002 x 2% x 3L x 53| = 1,800




8 0 (710) JYHIS Mg : (751) eraelt) 2 ¢ (202) 0fH] (ciel - m)
2 =
of &k o s 2 & = o] ES
= ol & o
SBINHHILY PREXNH 60,0008 x 1 x 3 x 53] = 900
203
YR E 4,200 4,200 0
4,200 4,200 0/04 SH2YLLFTY|
CRNSY YRETH (Y 219) 3500002 x 128 = 4,200
P12
EEES 17,876 17,204 672
17,876 17,204 672/09 JIEt=2lS M|
o 2zl 15,456
SN Y OFA2RX S
7,0008 x 4 x 102 x 28] = 3,360
StEAEEY OFI2RX S
7,0002 x 9% x 8 x 123] = 6,048
SteBaEY OFI2RX 24
7,0008 x 6% x 8 x 123] = 4,032
BHFHIEY OFA22X 24|
7,0008 x 3% x 8 x 123] = 2,016
ott4+E E&Y D=1 2,020
To= 130,0009 x 4% x 23| = 1,040




JgdlE MAlg  (751) Letzteld £ (212) S =4l (c+

? o EH)
= 4 43 c
— A o = 2 A = 7| ES
= of  AF oM
- 8tet= 130,0008 x4%H x 13| = 520
. OHA 3} 35,0002 x 4% x 13| = 140
B EN=TES 40,0008 x 4% x 23| = 320
o205 T2 400
e 65,0009 x 29 x 23] = 260
. oL A 3} 35,0009 x 29 x 15| = 70
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35,600 6,950 28,650
35,600 6,950 28,650
35,600 6,950 28,650 Xt
| T (HL) 4,300,000& x 204 = 8,600
oEMUE #ZAS(00.MSS.PH.E& S) FHl FL(FEX
5,000,000 x 204 = 10,000
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ME : (237) BIITHIE = : (405) MaFSHIS (sl : me)
=
= 2t &b = ) =
O_|H
oZ3otFHelAld I3BE AU (FH) 9,000,000& x 104 = 9,000
8,000,000& x 104 = 8,000




